IEY—KRIDI [HRE

GNEO-R

WER 7

6.5

2

21.5

@ B E T
SHEREE
_ ) WERET « VL (Flig) E=
FERBKS— b ) | ] | oo pLas —
WikT—F (Blsk) =
A ) Z =
T 7o)
—1 : S\ BX
© . N
L
o 2
= 5 Rifst <
- } F7 4 0— ey 2
<
Iy NL
g ]
o
—l R 904 —tHig=99
<t | — =)
S oo | 8 T
; | — R
= o T O
=1 S t@%ﬁﬂ it
o[ e
o R
e ﬁ : { ‘\ Il : ¥
I N
L
Bl LT 5
B\ b 3.
<) 20.1 | NN
o 2 o
o< 111 126.5 0 2
S 15.5) | 42 J@; 3 N-K
el e )
2 )i T -
© %J‘ ¥V # -
I
- L
- 562 4) 15/ KEMBEERT2YFAV L
WkF—7 (Rl)
Bko— b (Bl)
Z X (RHERAROES) + CRHOES) (%
|| 43mEBALGVEIITLTLESL,
BRAE (FiB) = |
©
BREAEIN Difs
- 4 6 4
= 32 V17 DW=W-—T71 17/32
+ 69. 7 T i =DW—139. 4 69. 7
T 43 10.7 10.7 43
EI}
H I I?l.i
w0 T k- S PZAC )
™ < 1 Y| I - .
® = -+ == . BkT—7 (Blid)
4 I L FEBKS— b (B
L# i H 3
~ L I L] /
§ \ %u i = o~
rec! Loy
o
N 58.5 [ 4.4 22.5 22.5 47.4| 51.5 %,
215[21] 71.5 A0 =W—159.5 211 2]5 WESE T 1 LA (Rl)
., 20 W;‘f%\f/#;‘fw 20 | s
ROW




